B # %

A/H 10/12(1) 10/18(%) 10/19(1) 10/20(R) 10/26(1) 10/27(R) 11/2(%) 11./3(8) I_ 11/4(R)
[F=2H—F(8ME)] = Fo = Fo = Fo( FRAH—=T = [F=2H—F(8E)] [F=2H—F(8E)] [F=2H—F(8m)]
BF—MFR BF-RFR
BF 9:00 1~1470v% 11:30 16, 20, 22
Fig 11:00 15~2378v%7 | lo.39 1,4, 14, 15, 21
[E Y] BT —RAR BF—RAR
NAR 9:00 1R 3~14,19~22 EESEININE 900 SF 1~64
——2g—=, | mz 10:00 1R 23~30.35~42 =
TERA—TY ES ] 11:30 1R 43~46,51~54,57~62 TFF
12:30 2R 1~20
13:30 2R 21~52
14:30 2R 53~64
TF—BFR - TF—BTR
xF 9:00 1~870vY BT
ET—BAR KT —BAR
xF 11:00 1R 3~6.11~14 9:00 2R 1~32
FE 19~22,27~30 LTFQF
(2R (&, 11/21TEHILES)
BF |BFASTLLEFR BFASTLIEFR
as5x | 900 1~870av%
Fi FiKE
%;; CEZTESNE T ] BTF465F BLERR CEZEYE I I
45 9:00 1R 1~8 " ~ 1000 SF 1~16
BT |BT65TCUEFH CEITENT S |
55% | 13.00 1~57av%
FiE bg =]
BF BF66T LLEAR BF665F LLEAR BT66F LLEAR
55F 1130 1R 3,4, 7~14 1300 QF 1~16 10.00 SF_1~8
BT BF65TCIEFR CEITENT S |
65F 9:00 1~370v%
FiE bd =]
BF BF665FLLEAR BF65F LLEERR CEXTE TS ]
657 1400 1R 3~8 B 900 F  1~8
BF BF70TULFPR BF70TLLEFR
70F 9:00 1~370v%
FiE bd =]
BF 70F L BF70TLLEERR BF70T L EERR
70% 14:00 1R 1~4 BT 900 F  1~8
K
XF |&kF45FLULEFR RFASTLLLFR
45% | 11:00 1~778v%
FiE Fika
E3 KF46T HLERR KFA6TLLEERR KFASTELEAR  |XTASTELERR |
45%F ]gfgg 1; 73:160 1230 1R 11~16 FiwE 900 SF 1~16
11:30 1R 11~16 1430 QF 1~16 (B 74 LA LUTF
1230 _QF 1~16
[£=E 3] [E=E 7] €22 3] [E=E 3] [E=E7] [E=E3] =] D\E]
EISNES-REY:: =11 REAF.F5.HE /\ir‘%iﬁg@r‘%tiﬁﬁ‘ RAT. SR EE. HE. RS |FAE. B, 5E. 5B F5 =&, HHE igEhuiﬁ%,ﬁ RARE. 2%
B, 5
TR /NERGE)] [EE N ERGE]
e TXF—RFR BF—EER
[EE X PN MEIEE: Fr=r e 900 3R 1~24
e FHE T E AR 1000 3R 25~48
NERIE !g:gf\ﬁ—c*tﬁb T B 65F Ll E AR 1130 3R 49~64
F=za—p - 9:00 1R 3. 4(HRARUFHEHE) _u-FQF
BFASTLLEERR
BFS5FLLEEFR
BF65T LI LXMW
BF70FLLLEER
HXFAS5TLLEERR
FiE8
— [
| (5]




